Lecture 6: Exactly Solvable One - Dimensional Problems

January 7, 2021

1 Introduction: The Art and Craft of Solving Schroedinger Equa-
tion

Very few problems can be solved exactly in quantum mechanics. However they have important role
in solving more general problems in which approximation methods are applied.

1.1 Method of Commuting Operators

To solving quantum mechanical problem in the case of stationary states, means to solve Schroedinger
wave equation by obtaining the eigenstates and eigenvalues. There are several ways of accomplish-
ing this task and one of the most practical approaches is the method of commuting operators. In
this approach we identify operators that commute with the Hamiltonian of the system and depend
on the same variables that Hamiltonian does. With this way, by applying the property that com-
muting operators have same eigenstates one can sometime guess the most appropriate form of the
eigenstate of the Hamiltonian. Thus in this approach the task is to identify operators that commute
with H and use these operators to obtain the eigenstates of the hamiltonian.

2 Quantum Systems with One Dimensional Potential

We first consider one dimensional quantum systems for which the general form of the Hamiltonian

has the form: .
H=_—"—"p"+V(z). 1
py + V() (1)

Since [ﬁf[ | # 0 one expects no comment eigenstates for momentum and Hamiltonian operators.
With the above Hamiltonian the Schroedinger equation for the bound state reads:

2 2
( I~ d +v<x>) Yn(@) = Eathu(a). 2)
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With this equation one needs to obtain both the eigenfunctions, v, (x) and eigenvalues E, and
there are several approaches for the limited number of quantum systems for which one has exact
analytic solutions.

One of the methods is the method of commuting operators which we will consider below.

3 Using symmetry properties of Hamiltonian to solve Schroedinger
equations

One of the most powerful methods to identify operators that commute with Hamiltonian is to
consider the symmetry properties of Hamiltonian. If such a symmetry is found that one expects
that operator, A characterizing the given symmetry will commute with H

[AH] = 0 3)

Then one use the operator A to find the eigenstate of H.

3.1 Space inversion operator

In one-dimensional problems one of the most important property to consider is the symmetry of the
quantum system with respect of the space inversion. To defined the operators of space inversion we
recall the eigenstates of coordinate and momentum operators | 9,) and | ¢,) for which the space
translation operator, R is defined as follows:

R | ¢iz) =[ Y52) and R | ¢ip) =| ¢=). (4)

Using the normalization properties of coordinate and momentum eigenstates:

(Yo | Yaa) = 0(x — ') and (Pap | up) = d(p — ') (5)

on obtains the unitarity condition for operators R:

R'R=1. (6)
Furthermore, from Eq. one has:
R? | Yaa) = R | ¥32) =| Ya) and R? | pup) = R | ¢5) =| dp) (7)
from which it follows:
R? =1. (8)

From Eq.@ and one observes that parity operator is an hermitian operator and equals to its
inverse:

RI=R=R"! (9)



Hermitivity of the operator indicates that the eigenvalues of the operator should be a real numbers.
From Eq. one then observes that the possible eigenvalues of operator R are £1. Thus one can
identify to distinct eigenstates of operator R . satisfying the relation:

R|Ys) =+ | ). (10)

The | ¥4) states usually referred to as positive and negative parity states.
It is useful also to show that the parity operator R is not commuting with the coordinate and
momentum operators however their anti-commutator is equal to zero:

[#R] = 2¢R and &R +Ri =0
[pR] = 2pR and PR+ Rp =0 (11)
3.2 Degeneracy Theorem

For further discussion it is useful to discuss the following property that indicates an existence for
the degeneracy for the eigenvalues of Hamiltonian, when the different eigenstates have same energy
eigenvalues.

3.3 One Dimensional Motion of Free Particle

For the case of free particle the Hamiltonian operator has the most simple form:

~9
2 p
With Schroedinger wave equation in the form:
h? d?
For such Hamiltonian from Eq. it follows that:
AR =0, (14)

thus the eigenstates of R can be used to identify the eigenstates of H. The wave function of
eigenstates that satisfy Eq. are ¢ (x) = Acos(fz) and 1_(xr) = —Bsin(fx) corresponding
to positive and negative parity states respectively for the particle with momentum magnitude p.
Inserting both wave functions into Eq. one obtains for both cases:

2
p
EFy=-—. 15
7 om (15)
This example indicates that the energy of the free motion is degenerate in which case different
parity states have same energy.



The same commutating operator method can be used to find different set of eigenstates of free
Hamiltonian, noticing that

] = 0. (16)
In this case one can use the eigenfunctions of the momentum operator i,(x) = \/21”76_1‘%“3 and
Y_p(x) = 217Th e'7* which correspond to the one-dimensional motion with positive and negative

momentum +p, as an eigenfunction for the Hamiltonian H. Inserting these functions into Eq.()

one obtains: )

B(+p) = 5. (17)

which again indicates that the energy of the free motion is degenerate, but in this case for different
direction of the motion of the quantum particle.

It is worth mentioning that while Eq. indicates on the space reversal symmetry of the
quantum system, Eq. is an indication that the quantum system has a translational symmetry,
that is it is symmetric with respect to the space translation in z direction.

4 One Dimensional Infinite Square Well

We now consider a quantum particle in the infinite potential well. Quantum mechanically the
concept of infinite momentum well is defined such that probability of finding a particle at any point
outside the well is strictly zero. In coordinate projection of the state vector of the particle will
result to the following condition for the wave function of the particle:

Y(x) =0 for |z| >a (18)

where a characterizes the size of one-dimensional well. It is customary the above condition to
express through the condition on the potential energy as follows:

Vi) = { 0 if|z| <a (19)

oo if x| > a.

In this case the hamiltonian H )

= ngn +V(z) (20)

has explicit symmetry with respect to the space reflection
[HR] =0 (21)

thus one can chose of the eigenstates the + parity eigenstates. For the corresponding wave functions
satisfying Schroedinger wave equation:

7 P s(o)

T om dx2? + V(z)p+(x) = Erjﬁﬂn,i(x) (22)



one can choose:
i () = Acos(ksa) (23)
Yn,—(x) = Bsin(k_x)

which are clearly an eigenstates of H at |x| < a as well as for space inversion operator R. Inserting
wave functions in Eq.(24) into Eq.(22) for |z| < a one obtains:

hk?
+ T
= ) 24
To estimate k+ we notice from condition of Eq. that that
Yy (x) =0, for allr > a. (25)
Then the requirement of the continuity of the wave function results in a condition:
Y+(a) = ¢p+(—a) = 0. (26)
Using Eq. for positive parity states one obtain:
Acos(kya) = Acos(—kia) =0, (27)
from which one obtains: - .
kia = ng ky = ng, for odd n's. (28)
For negative parity states:
Bsin(k_a) = Asin(—k_a) = 0, (29)
from which one obtains:
k_a=n+1)m, k_=2n+ 2)21 for all n's ork_ = n21for even n's. (30)
a a
Combining above two equations on can write
™
kP = — 31

where odd n’s defined positive parity states momenta and even n’s the same for the negative parity.
At last one can defined normalization constants A and B from the condition

A? / cos’(kyxz)dr =1 and B? /sinQ(k_x)d:U =1 (32)
resultingin A = B = ﬁ) Thus the wave functions of the particle inside of the infinite momentum
well are

1

oi(x) = NG cos(%x) with odd n’s (33)
1

v, (x) = —= sin(nlx) with even n's.

Va 2a

Note that the lower possible value of n = 1 which will correspond to the ground sate and it is a
positive parity state. The n=0 gives 1) = 0, a trivial solution that has no physical significance.



4.0.1 Expectations

It is instructive to evaluate expectation values of several observables, that in some sense defines the

picture of quantum particle observed by ”classical” observed.
First we estimate the expectation values of position £ and momentum p operators:

a

a 1 a
T = zpt (z 2d:v:l zcos® (kfz)de = — [ x(1+ cos 2k, x))dz = 0
+ n a n )

2a
a 1 a 1 a
(y- = /x|1[);(x)|2d:n = /:L‘sin2 (kfz)dr = %/a}(l —cos (2kp 42))dz =0 (34)
i d kih [ kih [
By = / Ui (@) (=im) T (@) = T2 / cos (ko) sin (I )de = - / sin(2k! z)dz = 0
i d —ikyh [ —iky [
(py_- = /w;(x)T(—ih)—w;(x)dx: n /sin (k, x) cos (k, x)dx = “n /sin(Qk;x)dx:O
dz a 2a
(35)
%, = /ax2]1/1+(x)\2da: -1 /aa;2 cos? (kFz)dz = a? M n - odd
* " a " 3n?mw2 )’
’ 17 n?r? —6
-2 _ 20— (N2 ] — 2 2 (4 _ 2
(7). = /x |, (z)]°dx = a/a: sin® (k, x)dz = a (W)’ n - even
(36)
a a
. d2 kﬁ 2h2 27T2h2
e = 0 [uie e = BT feod (e = e =TT - oad
dx a 4a
P = 1 [ L = [ e = e - T
Py = — /¢n$ T2 ¥n (@)de = = sin® (k,, z)dz = (k,, 1oz -even
(37)



4.1 Heisenberg Uncertainty in the Well

The above calculated expectations allow to check the Heisenberg uncertainty for the quantum
particle in the infinite well. In this case

N . n2n? —6
o2 = (@@= (@) =(2"])=a},,=d <3nzﬂ_2 ; (38)
n2m2h?
4a?

from which it follows that
s o REm* 2 R?

=gy >

(39)

which shows that Heisenberg uncertainty is satisfied.

It is interesting to note that because (x) = (p) the variances o, and o, are related to the RMS
values of the measured coordinate and position of the quantum particle. As it follows from Eq.
the RMS values of the momentum grows linearly with n while the RM S value of the position x

becomes localized at Zyms |n—oo= g

4.2 Discontinuities at the Border

As it was shown during the discussion of "seven wisdoms” of Schroedinger equation, the wave
function’s first derivative has a discontinuity for situation in which the potential energy operator
contain an singularity (or is infinite). To calculate this discontinuity we estimate:

AP (a) = (Yila—€) = ¢li(a+e)) leso (40)

for which using relations from Eq. one obtains:

ML) = — T sy = 2T = odd, (a1)
2a2 2 2a2
Ay (a) = m; COS(E) = mz (=1)2Z,n= even
2a2 2 a2

5 One Dimensional Traps

Consider a potential energy:

) W if 2] < @
Vi(z) = { 0 ifle>a (42)
with the Hamiltonian: "
A px
j2 4
o TV (@) (43)



and looking for a Bound state solution. Since potential energy vanishes at infinity then the bound
sates can happen only if £ < 0. One observes that such a Hamiltonian do not commute with the
momentum operator [H,p] #= 0. It is so because of the discontinuity of the potential at |z| = a.
It however commutes with the space inversion operator [ﬁ , R] = 0 therefore one can look for the
potential eigenstates of the Hamiltonian in the form of the eigenstates of R operator.

To proceed we present the Schroedinger equation in three ranges according to Fig.??, for which
one obtains:

h2
I %V2¢($) =| E | ¢(z)
h?_,
II —%V P(z) = V- | E|)
2
M 22(e) =] B | () (44)

According to the wisdom number two energy of the bound state E > Vs, thus |E| < Vj. This

relation allows to introduce k = w for range II. For ranges I and III one introduces also
K= —Q;'LQE .

As it follows from Eqs. and the Hamiltonian commutes with space translation operator
R therefore one expects that solutions should be also eigenstates of operator R which mean with
positive and negative eigenstates. Such solutions can be represented in the form: For positive
eigenvalue of R:

Yy (z) = Ae™O(—a — z) + Ae” " O(xz — a) + Ccoskz - O(x + a)O(a — x) (45)
and for negative eigenvalue of R:
Y_(x) = Be"O(—a —x) — Be "O(x —a) + Dsinkz - O(z + a)O(a — ) (46)

Since the potential energy is finite everywhere one should expect that both the wave function
and the first derivative should be continuous function: The continuity conditions should be consid-
ered at the boundary of the potential a or —a from which for the wave function and the derivative
follows: for v, wave function:

Ae " = (Ccoska
—kAe ™ = —kCsinka (47)

and for ¢_ wave function:

—Be ™™ = Dsinka
kBe ™™ = kD coska (48)



To continue with finding the eigenstates for both parity wave functions we divide the upper and
lower parts of the above equations to obtain:

(+) kcotka=k
(-) kcotka=—k (49)

The above relations represent a transcendental equations and can be solved only numerically.
To proceed let us make following definitions:

2mVpa?
r=ka, yr =xtanz, y_ =xzcotz and RZZ% (50)
Then Eqf49| for “+” and “-” parities will have same expressions as
TR
() v+ = T
TK
_ =" 51
() y=" (51)
One can now show that for both parities:
2?4+ yi = R? (52)
where on the other hand:
2
2 2 7T
) oy = cos x2
2 2 a?
- = 53
() A= (53)

Comparing Eqs. and we obtain the simplified version of Eq. which can be solved
numerically:

(+) COJ:S.’E - R
) o

The solutions in this case correspond to the interception of _—— and - with constant R see Fi
As the figure shows the lowest possible R will have solution only for the positive parity states while
the negative parity requires a minimal value for R to have an intercepts.

The intercepts allow to obtain solutions for x = ka from which one obtains k. Once k is known

. . 21.2
w, which results in £ = %fz V.

the energy values can be calculate using the relation k =
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Figure 1: Red curves positive parity, blue curves negative parity solutions. Green lines are different
values of R.

5.1 Low Momentum Narrow and Deep Trap Solution

We now consider the low momentum narrow and deep trap solution with the condition ka < 1 and
|E| < |Vpl|. In this case, cot ka ~ k—la and for Eq. one obtains:

K

(+) P E — k=ak?
k
(-) o L 1 = —ka. (55)

Since k by definition is a positive quantity, one observes that ”(-)” parity does not have a solution
at this limit. For positive parity from the above relation and the definitions of x and k£ one obtains:

2mViZa®

E=—"—p— (56)

6 Problem with the /-function like potential

We now consider a possibility of the existence of the bound states for the system in which the
potential energy has a form of the § function:

V =—ad(z) (57)

In this case the Hamiltonian a has a form:

L P2

10



and it clearly symmetric with respect to space inversion. From which it follows that
[R,H] =0. (59)
Therefore to solve the Schroedinger wave equation:

2
~292(@) ~ ad(a) = Bu(a), (60)
2m
considering E < 0 cases since we are interested in the bound states We will look for the positive
and negative helicity wave functions 4 (z) which are eigenstates of R operator.
Since for x < 0 and = > 0 the potential energy in Eq. vanishes and solution for £ < 0
corresponds to the exponentially decreasing wave functions. Using this fact the ”4+” and ”-” helicity
wave function can be constructed as follows: for the positive eigenvalue of R:

Uy (z) = Ale"O(—x) + e " O(x)] (61)
and for the negative eigenvalue of R:
Y- () = Ble™O(~a) — e 0(a)] (62)

where in both cases the parameter k is not known.
Positive Parity Solution: We consider now the “+” -helicty wave function in Eq. for
which one obtains:

Y = kA[e"O(—z) — e O (x)] — A5 (—x) + Ae(x) = kA[e"O(—z) — e O (x)] (63)

where we used the relation d(?lgv) = §(z) and
—Ae™o(—x) + Ae7 () = =d(x) + 0(x) =0 (64)
Using Eq. and above definition of § function for the second derivative one obtains:
1(z) = K2 A" O(—x) + e O (2)] + kA[—e™5(—z) — e "5(x)] = K%y (7) — 26A5(x)  (65)
Inserting above relation into Eq. one obtains:

h2k2 K22
" Yy (z) + "

2m 2m

Ad(z) — ad(z)A = Epy(z), (66)

To solve above equation we note that only finite values of E are physical. Therefore one can fix
the value of x by requiring that the 6(x) function should be cancelled. This requirement results in:
2 hQ

h
%2/@4:0@4 — a:EH %H:% (67)

11



The remaining part of Eq. allows to calculate the energy which results in:

72,2 72 m2a2 2
p=-t e T (68)
2m 2m h 2h
To find the constant A we use the normalization condition
o0
[ 14 o =1 (69)
—00
which results in
0 00 A2
I R e R (70)
—00 0
Thus the positive parity wave function will have the final form:
Ya(a) = Y= [e7570(—a) + ¢ O(a)| (71)

Negative Parity Solution: We consider now the wave function of Eq. from which one
obtains:

Y = kB[e"O(—x) + e "O(x)] — Be"§(—x) — Be "§(x) (72)
and
V" (z) = K2 B[ O(—x)—e " O(x)]+B[—e"* 55;;””) —eh d(zl(;)] = k% (2)+BY (x)—Bd (x) = *_(z)
(73)
Inserting above relation into Eq. one obtains:
h?k? h?
— S (2) — ad@)y (1) = By (r) = B=—y - ad() (74)
This shows that ”-” - parity wave function results in a singular binding energy for the system which

is not - physical.

12



7 Canonical Quantization

7.1 General

Assume that the given Hamiltonian has the following form
H = A(g)a”a+ B(q) (75)

where A(q) (positive) and B(q) are some functions and a is an operator satisfying following com-
mutative relation
[aat] =1 (76)

Our goal is to calculate the energy spectrum of such hamiltonian.
Suppose we know the eigenstate of the hamiltonian [, > for given eigenvalue of E,,, that is

Hpp >= Ep ¢y, > (77)

Then we consider
at iy >=[¢ > (78)

which is again a state vector in the Hilbert space.
Let us check whether |¢ > is a eigenstate of H too.

H|p >= Ha" [, >= A(q)a" aa™ |1, > +B(q)a™[¢n > (79)
From Eq. we can substitute aa™ = 1 + a*a which yields:

Hatn > = A(Qatataln > A(q)a™ [n > +B(q)a™ |hn >= aT(H|tbn > +A(q)|tbn >)(80)
= (Bn+ A(g)a™ |ty > (81)

which means that |[¢p >= a™ |1, > is an eigenstate of the hamiltonian H with the eigenvalue of
E, + A(q).

The similar derivation shows also that alt,, > is an eigenstate of Hamiltonian H with eigenvalue
of E, — A(q).

Because of this property a™ and a is called step up and step down operators.

It is easy to generalize that

(a™)"|¥,,) will be an eigenstate with the eigenvalue of E,, +n - A(q)

H(a")"[Om) = (Ep +n - Alg)) (@) [ ) (82)

and same way (a™)"|¥,,) will be an eigenstate with the eigenvalue of E,, — n - A(q) and same
way

13



7.2 Ground State
In the Hilbert space

< ¢l¢) = (YnlaTalgn) >0 (83)
Using Eq. one can substitute in the above equation
H — B(q)
ata=——"- 84
@ 54
which results - B(g) E, - B(a)
- q n q
Un|——F = |Vn) = —F—~— =0. 85
ol Alq) [9) A(q) (85)
Because of positiveness of A(q), from the above equation one obtains
En > B(q) (86)

Therefore the system has a ground state.

Let us assume the [¢)g) corresponds to the ground state. Then according to the above discussion

atho) = 0 (87)
since no state exists with lower energy. Multiplying above equation from the right by a* and using
Eq. one obtains

H — B(q) Ey — B(q)

*ali) = (g o) = (g ) = 0 (55)
Again using the positiveness of A(q) one obtains
Ey = B(q) (89)
This together with Eq. allows to obtain the energy spectrum of the system as
E, = B(q) +nA(q) (90)
It can be shown also that the normalized state vector for the n’th level can be expressed as:
) = =@ (o1)

7.3 Level Number Operator

One can introduce an operator N = ata and demonstrate that

o _ (H-B(q) _ (E,—B(q) .
NW@—(MQ)WJ—(MW)WM—%> (92)
It can be shown that

[N, H} =0. (93)

Thus the eigenstates of N are conserved quantities.

14



7.4 Matrix Elements

Since a™|1),,) corresponds to the eigenstate with n + 1 level energy, one can write

aﬂ%) = Cn‘wn—&-l) (94)

From the above equation we obtain

lenl® = (Ynlaa® ) = n+1 (95)

where in the last step we used the cammutator of [aa™] and the definition of the level number
operator. If we assume that ¢, numbers are real we obtain

cn=vVn+1 (96)

and

a+|¢n> =vn+ 1’¢n+1> (97)

This relation allows to calculate the matrix elements of the operators a and a™ in the form

arn = Vn+18ma1 (98)
Qmn = \/ﬁ(sm,nfl
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8 One Dimensional Harmonic Oscillator

Starting with classical Hamiltonian function for Harmonic Oscillator:
2 L 9 9
kx® = — 4+ —mw?z”, (99)

where k is the Force constant and w = (/£ one constructs a quantum mechanical Hamiltonian
operator in the following form:

F N S
H=—+- i 1
o + oMW (100)
Introduce R
P= % and Q = v/mi (101)
Using these definitions one obtains:
[P,Q] = [p,&] = —ih (102)

With these definitions the Hamiltonian in Eq.(100) simplifies to:
I TR Py
H_g(P +w?Q?) (103)

8.1 Rising and Lowering Operators

Introduce:

Q= ;wh (wQ +iP) (104)
and !
al = (wQ — iP) (105)

vV 2wh

Clearly these operators are not hermitean since af # a. Moreover using Eq. l} one obtains:
[a,a'] =1 (106)

same as in Eq.(76)).

Expressing now operators of Q and P through a' and a:

Q:(aﬂﬂ)\/i and P:(a—eﬁ)ﬁi (107)

for the Hamiltonian operator of Eq.(103]) one obtains:

. 1
H = hw(afa+ 3) (108)

16



It is also useful to check that:

[a,aTa] = [a,d")a+a'[a,a) = a (109)
[aH} — hwa
af. 1] = [f,a) = —hwat (110)

With Egs.(108 and (106) we recognize that the problem is similar to one we discussed in
canonical quantization with Eqs. and with

A(q) =hw and B(q) = %hw (111)

Thus we conclude that operators defined in Egs.(104]) and (105]) represent the lowering and rising
operators for the eigenstate of Harmonic Oscillator hamiltonian satisfying relation:

f{ ’ %) =E, ‘ zﬂn> (112)

8.2 Energy Spectrum

The energy spectrum of Harmonic Oscillator can be calculated using definitions from Sec[7.1] from
which it follows:

1
By = Blg) +nA(q) = heo(n + ), (113)
with the ground state energy being:
Ey = %u (114)

This result is very strange since it indicates that quantum Harmonic Oscillator has a null state
energy, which means that any stable quantum state will have null energy which can sum up to
infinity.

8.3 Ambiguity of the Ground State

The apparent solution of the null energy problem is ambiguity in choosing quantum Hamiltonian
operator for Harmonic Oscillator. We discussed previously that we don’t a priori know how the
original quantum Hamiltonian looks and as a rule we construct it from classical hamiltonians. Such
was the approach in constructing the Hamiltonian operator in Eq.. However we could also
construct a quantum mechanical Hamiltonian that has arbitrary term proportional to [Z,p] that
will yield same classical Hamiltonian in the form of Eq. since in classical limit [z, p] — 0.

For example the following Hamiltonian operator is as legitimate as the one in Eq.:

52

2 p 1 2 A W

H=—+- — . 11
o T g™ x—i—zQ[:r,p] (115)
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Using now the definitions of Sec[8.1] one obtain

H = hwaa! (116)
for which the energy spectrum will be in the form pf
E, = nhw (117)
with
Ey=0 (118)
Thus the standard solution for quantum Harmonic Oscillator is to discard the null energy by
shifting energy spectrum up by ¥ and calculate according to Eq.(|1

However there is some controversy whether one needs to ignore the null modes especially in
the relativistic case.

8.4 Expectation Values of Quantum Harmonic Oscillator

The quantum eigenstates of HO represent the solution of equation:

A2

UL 2] [ Yn) = En | ), (119)

H‘¢n>: om 2

with )
E, = hw (n + 2) (120)

At this stage it is useful to calculate the expectation values for kinematic, T = %, and potential
energies of HO V(z) = 1mw?i?.
For expectation value of kinetic energy one obtains:

o | T 140) = G | 2 [10) = S | 2 1) =~ | = a2 ) (i)

where we used first the definition of Eq. 1) then relation for P according to Eq. 1D We now
elaborate the term:

(Yn | (&_&T)2 | Yn) = (¥n | (&&'i_dT&T_ddT_dT& | ¥n) = —(¥n | (&&T"_dT& | ¥n) = —(¥n | (2&Td+1) | )
(122)
where in the derivation above we used the facts that (1, | (aa) | 1n) = (¥n | (aTa?) | ¥,) = 0 and
[a,af] =1
Substituting now Eq.(122)) into Eq.(121]) and using definition of the Hamiltonian operator in
Eq.(108) one obtains:

. 1 - h 1
W | T 1) = G | ) = | P2 ) = P & ) = o | B ) =
(12

m‘ﬂj

w
~~
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With the similar approach one can calculate the expectation value of potential energy:

<¢n | V(l‘) | ¢n> = <1/}n | %mw2i2 | 1/’n> = %w2<¢n | Q2 ’ %) = FaTw@/]n | (& + dT)Q | ¢n>7 (124)

where in the derivation we used the relations of Eq.(101]) and definition of Eq.(107)). Now similar
to Eq.(122):

(b | (@4a")? | ) = (W | (aa+aTaT+aa"+ata | n) = (W | (@dT+aTa | ) = (W | (2aTa+1) | ¥n)

(125)
Substituting this into Eq.(124]) and using the expression for the Hamiltonian operator in Eq.(|108))
one obtains:

. . E,
(i | V(&) | ) = "2 | a4 5 ) = 3 (o | B | o) = 2 (126)

From Eqgs.(123]) and (126]) one concludes that for the case of Harmonic Oscillator the expectation
values of kinetic and potential energies, equally share the energy eigenvalue F,, of the Hamiltonian.
It will be nice two show the same result applying Virtal Theorem to Harminic Oscillator

hw
- ¢

8.5 Wave Functions of Quantum Harmonic Oscillator

We now will try to obtain the wave function of Harmonic Oscillator in coordinate representation.
In general we have to solve the Schroedinger equation for the wave functions in the form:
R d: 1,
which is second order differential equation.
However we can also solve this problem using the method of commuting operators we used
earlier to obtain the eigenstates of hamiltonian. For this, from Eq.(??) we notice that for the

ground state: )
[aH] | 1o) = hwa | o) =0 (128)

The last part of the equation follows from the fact that a is a lowering operator and it can not lower
the ground state any more. Thus to obtain the wave function of the ground state we can solve

R 1 AL 1 . T,
<¢m | a | wo> = <wac | \/ﬁ (WQ+ZP) ‘¢0> - \/ﬁ(djm ’ (W\/ml'—l— mP) Wo) - (129)

1 d
o (wmx + hd:z) YPo(z) =0,

where in the above derivation we used definition of a from Sec[R.l
With above equation we arrived at first order differential equation:

(wmx + h;‘;) o) =0, (130)
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which is simpler than Eq.(127)). It can be solved by separating differentials:

(131)

with the solution g (z) = C’e_%ﬂ, where C one can calculation from normalization condition

“+oo
leii / e dy = 1, (132)

—0o0
1
resulting in C' = [2#]%. Thus for the ground state wave function one obtains:

() = | | g (133)

Wave functions of the excited states can be calculated using the relation of Eq[91]in the form

E\H

For example for the first excited state:

Y1(2) = (s | a' | 9o) (135)
and using relation of Eq.(105]) one obtains:

Y1(x) = 1wh (mw:): - ;;) Yo(z) =

2m

L (mwxwo(x) — h;i?ﬂo(fﬂ)) = (136)

2mwh
2mw [mw]i w2
=4/— | —| =e
h mh
We can continue in this manner to calculate wave functions of other excited states. However one
can obtain a compact formula for any excited state, if we introduce a variable:

o (137)

for the first part of Eq.(137)) one obtains

o) =g (i) (2]

_1[7%}3*(_6[) -2
V2 L Th )

20

(138)



With the same procedure we can show that

1 'mw'% d\?%2 .2
= —_— - — p)
V(@) = g | | (z dz) ‘

and for given n:

-k

o]

Ynl2) = Vv 27n! E

Al
/N
N
|
&l
N———
3
a
|
M‘Nw

(139)

(140)

One can work out the above equation into the form of Hermite Polynomials defined in the form:

22 dr 2

dz" €

n 22 22 n
(z — (i) e 2 = (*1)”67;1” e

and substituting the above equation into Eq.(140)) one obtains:

H,(z) =(—-1)"e

For this we notice that

1
mw 2 d" 2 1 [mw} 1 22
2

1 % n —z
Ynl2) = NG [wh} (-l"er ome = NG
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(141)

(142)

(143)
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